
WEEK 15 – WEEKLY MATHS CHALLENGE

KEYS TERM OF THE WEEK
Difference: another word for 
subtraction, but the positive answer 
must be given; e.g. the difference 
between 5 and 8 is 5 – 8 = -3, but we 
would say 3 (or simply 8 – 5 = 3)

Submit your answers on a 
piece of paper with your 

name and form on by the END 
OF FRIDAY to the box by 

student services.
Winner revealed next 

Wednesday!

Three boxes contain either apples, pears or both.

Each box contains the same number of pieces of fruit.

The first box contains all 12 apples, and a ninth of all the 
pears.

How many pieces of fruit are there in each box?

Mrs. McGhee’s fun maths fact:

“Whilst marking A-Level coursework, I 
accidentally ate ‘the 5th triangular number’ 
of Miniature Heroes. Oops…”


